IB 2017 IR 2017 durée IB 2019 IR 2019 durée

IV-1.13 ech 915 745 IV-1. 8 ech 930 756
IV-1.13 ech IV-1.8 ech
IV-1.13 ech IV-1.8 ech
IV-1.13 ech IV-1.8 ech
IV-1.13 ech A=A IV-1. 8 ech
IV-1.13 ech IV-1. 8 ech
S
>
IV.1.12 ech 867 708 2 IV.1. 7ech 880 718 3
IV.1.12 ech IV.1. 7ech
IV.1.12 ech A=A+1an IV.1.7ech
IV.1.12 ech IV.1. 7ech
IV.1.11 ech 838 686 3 IV.1.7ech
IV.1.11ech A=A-2ans v 7ech
IV.1.11 ech . IV.1.6ech 838 686 3
IV.1.11ech IV.1.6ech
IV.1.11 ech A=A+lan IV.1.6ech
IV.1.11ech N IV.1.6ech
>
IV.1.10 ech 820 672 2 IV.1.6ech
IV.1.10ech IV.1.6ech
IV.1.10 ech A=A/2 IV.1. Sech 791 650 3
IV.1.10 ech IV.1. 5ech
IV.1.9ech 773 636 2 A=A+1an IV.1.5ech
IV.1.9ech IV.1. 5ech
IV.1.9ech IV.1. 5ech
IV.1.9ech IV.1. 5ech
IV.1.8ech 739 610 3 A=A-2ans IV.1.4ech 751 620 2
IV.1.8ech IV.1.4ech
IV.1.8ech A=A IV.1.4 ech
IV.1.8ech IV.1.4ech
IV.1.8ech IV.1.3ech 708 587 2
IV.1.8ech IV.1.3ech
IV.1.7ech 675 562 3 IV.1.3ech
IV.1.7ech A=A-lan IV.1.3ech
IV.1.7ech IV.1.2ech 675 562 2
IV.1.7ech IV.1.2ech
IV.1.7 ech A=A+lan IV.1.2ech
IV.1.7ech IV.1.2ech
IV.1.6ech 634 531 2 A=A-lan IV.1.1ech 634 531 2
IV.1.6ech IV.1.1ech
IV.1.6ech A=A+dan IV.1.1ech
IV.1.6ech IV.1.1ech
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IBIV2 IRIV-2
IV2 en 2017 1B IR durée projet projet durée
IV-2 15éch 978 792 IV-2 9éch 1015 821
création a partir du ler janvier 2021
sans A
N
“lv-28éch 995 806 3
A=A
>
IV-2 14éch 936 761  3ans “11v-2 7éch 946 768 3
A=A
A
IV-2 13éch 897 730  3ans “| v-2 66ch 897 730 3
A=A
>
IV-2 12éch 856 699 3ans IV-2 5éch 858 701 3
A=A
>
IV-2 11éch 815 668 3ans “1Iv-2 4éch 823 675 3
A=A
N
IV-2 10éch 797 655 3ans IV-2 3éch 797 655 3
A=A
N
IV-2 9éch 773 636 lan A=A “| 1v-2 2éch 773 636 1
>
IV-2 8éch 725 600 lan A=A 1 Iv-2 1éch 725 600 1
>
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IB 2017 IR2017  durée IB projet IR projet durée

111-2 . 10ech 807 662

-2 . Ech Exce 792 651 111-2 . 10ech 807 662

IlI-2 . Ech Exce 792 651 A=A+1 an 111-2 . 10ech 807 662

II-2 . Ech Exce 792 651 111-2 . 10ech 807 662

III-2 . Ech Exce 792 651 111-2 . 10ech 807 662

I11-2 . 13ech 746 616 4 A=A-3 I11-2 . 9ech 759 626 3

111-2 . 13ech 746 616 111-2 . 9ech 759 626

I11-2 . 13ech 746 616 I11-2 . 9ech 759 626

11-2 . 13ech 746 616 A=A 111-2 . 9ech 759 626

I1-2 . 13ech 746 616 I11-2 . 9ech 759 626

111-2 . 13ech 746 616  |1-2.. 9ech 759 626

11-2 . 13ech 746 616 I1-2 . 8 ech 728 602 3

111-2 . 13ech 746 616 II-2 . 8 ech 728 602

I1I-2. 12 ech 717 594 3 I1-2 . 8 ech 728 602

I1-2. 12 ech 717 594 A=A I1-2 . 8 ech 728 602

I1I-2. 12 ech 717 594 I1-2 . 8 ech 728 602

I-2. 12 ech 717 594 - |ll-2.8ech 728 602

I1-2. 12 ech 717 594 I1-2. 7 ech 699 580 3

II1-2 .12 ech 717 594 -2 .7 ech 699 580

I1I-2. 11 ech 691 574 2 II-2 .7 ech 699 580

Il-2. 11 ech 691 574 A=A+1 II-2. 7 ech 699 580

I1-2. 11 ech 691 574 I1-2. 7 ech 699 580

III-2 . 11 ech 691 574 I1I-2 . 7 ech 699 580

I1-2 . 10 ech 660 551 2 A=A I1-2 . 6 ech 665 555 3

I1I-2 . 10 ech 660 551 A=A+2 -2 . 6 ech 665 555

11I-2. 10 ech 660 551 IlI-2. 6 ech 665 555

I1I-2 . 10 ech 660 551 III-2 . 6 ech 665 555

IlI-2. 9 ech 634 531 3 IlI-2 . 6 ech 665 555

-2 .9 ech 634 531 A=A-1an I1I-2 . 6 ech 665 555

IlI-2. 9 ech 634 531 “li-2. 5 ech 634 531 2

I1-2. 9 ech 634 531 A=A + lan I1-2. 5 ech 634 531

IlI-2. 9 ech 634 531 IlI-2. 5 ech 634 531

I11-2. 9 ech 634 531 A=A-2ans II-2 . 5 ech 634 531

-2 8 ech 600 505 3 ‘ > -2 4 ech 600 505 2

I11-2 . 8 ech 600 505 I1-2 . 4 ech 600 505

IlI-2 . 8 ech 600 505 A=A IlI-2 . 4 ech 600 505

I11-2 . 8 ech 600 505 |II-2. 4 ech 600 505

IlI-2 . 8 ech 600 505 “ -2 .3 ech 580 499 2

I1I-2 . 8 ech 600 505 I1-2. 3 ech 580 499

-2 . 7 ech 580 490 3 IlI-2 . 3 ech 580 499

I1-2. 7 ech 580 490 A=2A/3 |ll-2. 3 ech 580 499

IlI-2. 7 ech 580 490 IlI-2. 2 ech 554 470 2

I1-2. 7 ech 580 490 I1-2. 2 ech 554 470

IlI-2. 7 ech 580 490 IlI-2. 2 ech 554 470

II-2 . 7 ech 580 490 A=A/2 + 6mois II-2 . 2 ech 554 470

12 . 6 ech 554 470 3 1l1-2 . ler ech 516 443 1

I1-2 . 6 ech 554 470 _[lI-2. 1er ech 516 443

12 . 6 ech 554 470

I1-2 . 6 ech 554 470

112 . 6 ech 554 470

II-2 . 6 ech 554 470

12 .5 ech 516 443 1

I1I-2 . 5 ech 516 443
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IB 2017 IR2017 durée IB projet IR projet durée

3. 15ech 853 697 -3.1lech 867 708
-3.15ech 853 697 -3.11ech 867 708
-3.15ech 853 697 -3.11ech 867 708
-3.15ech 853 697 _|I-3.11ech 867 708

3. 14ech 820 672 2 ZT1-3.10ech 833 682 3
-3.14ech 820 672 A=A+1 an I-3.10ech 833 682
-3.14ech 820 672 I-3.10ech 833 682
-3.14ech 820 672 _|m-3.10ech 833 682

-3.13ech 792 651 2 A=A-1an Z|-3.10ech 833 682
-3.13ech 792 651 |m-3.10ech 833 682
-3.13ech 792 651 A=A +2 ans 3 9ech 803 659 3
-3.13ech 792 651 |n-3.9ech 803 659

-3.12ech 754 622 3 “ln-3.9ech 803 659
-3.12ech 754 622 A=A-1an -3 . 9 ech 803 659
-3.12ech 754 622 -3 . 9 ech 803 659
-3.12ech 754 622 |1-3 .9 ech 803 659
-3.12ech 754 622 A=A +2 ans “T3.8ech 762 628 3
-3.12ech 754 622  |-3.8ech 762 628

-3.1lech 725 600 3 “ 3. 8 ech 762 628
-3.11ech 725 600 A=A-1an -3 . 8 ech 762 628
-3.11ech 725 600 -3 . 8 ech 762 628
-3.11ech 725 600 - |m-3. 8 ech 762 628
-3.11ech 725 600 A=A +2 ans “m3.7ech 725 600 3
-3.11ech 725 600 |37 ech 725 600

-3.10ech 691 574 3 “ln-3.7ech 725 600
-3.10ech 691 574 A=A-1an -3 .7 ech 725 600
-3.10ech 691 574 -3 .7 ech 725 600
-3.10ech 691 574 < |3 .7 ech 725 600
-3.10ech 691 574 A=A +2 ans “[3.6ech 691 574 3
-3.10ech 691 574 _|m-3.6ech 691 574

-3.9ech 655 546 3 -3 . 6 ech 691 574
-3 . 9 ech 655 546 A=A-1an -3 . 6 ech 691 574
-3 9 ech 655 546 -3 . 6 ech 691 574
-3 9 ech 655 546 o |m-3.6ech 691 574
-3 9 ech 655 546 A=A +1an “Im3.5ech 655 546 2
-3 . 9 ech 655 546 |-3.5ech 655 546

-3.8ech 633 530 1 A=A “1i-3. 5 ech 655 546

-3.8ech 633 530 |35 ech 655 546

-3.7ech 614 515 1 A=A “T3.aech 633 530 1

-3.7ech 614 515 | m3.4ech 633 530

-3.6ech 593 500 1 A=A “m3.3ech 614 515 1

-3.6ech 593 500 .| m3.3ech 614 515

-3.5ech 574 485 1 A=A " m3.2ech 593 500 1

-3.5ech 574 485 | m3.2ech 593 500

“ [ -3.1ech 574 485 1
-3.1ech 574 485
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1B 1I-3 IR 1B -3 1R
durée 2017 2017 durée projet projet

1I-3 14¢ ech 683 568 1I-3 11& ech 3 707 587
1I-3 14¢ ech A=A-2 1I-3 11& ech 707 587
1I-3 14 ech 1I-3 11& ech 707 587
1I-3 14¢ ech 1I-3 11& ech 707 587
1I-3 14¢ ech 1I-3 11& ech 707 587
11-3 14¢ ech A=A+1 1I-3 11& ech 707 587
11-3 13¢ ech 4 661 552 11-3 10€ ech 3 688 572
1I-3 13e ech 11-3 10¢ ech 688 572
1I-3 13¢ ech A=A- 11-3 10¢ ech 688 572
1I-3 13é ech 1I-3 10¢& ech 688 572
11-3 13¢ ech 11-3 10¢ ech 688 572
1I-3 13e ech 11-3 10& ech 688 572
1I-3 13¢ ech A=A 1I-3 9¢ ech 3 666 556
1I-3 13¢& ech 1I-3 9¢ ech 666 556
1I-3 12¢& ech 3 646 540 1I-3 9¢ ech 666 556
1I-3 12¢& ech 1I-3 9¢é ech 666 556
1I-3 12¢& ech 1I-3 9¢ ech 666 556
1I-3 12¢& ech 1I-3 9¢ ech 666 556
1I-3 12¢& ech 1I-3 8é ech 3 651 544
11-3 12¢ ech A=A 1I-3 8¢ ech 651 544
1I-3 11& ech 3 620 520 1I-3 8& ech 651 544
1I-3 11& ech 1I-3 8¢ ech 651 544
1I-3 11& ech 1I-3 8e ech 651 544
1I-3 11& ech 11-3 8¢ ech 651 544
1I-3 11& ech 1I-3 7& ech 3 624 524
1I-3 11& ech A=A 1I-3 7¢ ech 624 524
11-3 10¢ ech 2 596 502 1I-3 7¢ ech 624 524
1I-3 10& ech 1I-3 7¢ ech 624 524
1I-3 10& ech 1I-3 7& ech 624 524
11-3 10& ech 1I-3 7& ech 624 524
11-3 9¢ ech 2 577 487 A=A 1I-3 6 ech 2 601 506
1I-3 9¢ ech 1I-3 6€ ech 601 506
11-3 9¢ ech 1I-3 6€ ech 601 506
11-3 9¢ ech A=A/2 +1an 1I-3 6€ ech 601 506
11-3 8¢ ech 2 559 474 1I-3 5¢ ech 2 581 491
11-3 8¢ ech 1I-3 5¢ ech 581 491
11-3 8¢ ech A=A/2 1I-3 5¢ ech 581 491
11-3 8¢ ech | !l-35eech 581 491
1I-3 7 ech 2 542 461 “[ 348 ech 2 553 469
11-3 7 ech A=A 1I-3 4¢ ech 553 469
1I-3 7 ech 1I-3 4é ech 553 469
1I-3 7¢ ech .| Il-34éech 553 469
11-3 6€ ech 2 521 447 “1 1-33eech 2 527 451
11-3 6€ ech 1I-3 3¢ ech 527 451
1I-3 6e ech A=A 1I-3 3¢ ech 527 451
11-3 6¢ ech 11-3 3¢ ech 527 451

1I-3 5& ech 2 501 432 1I-3 2e ech 2 484 419

1l-3 5& ech Sans A 1I-3 2e ech 484 419

1I-3 5¢ ech 11-3 2e ech 484 419

1I-3 5¢ ech Sans A 11-3 2¢ ech 484 419

1I-3 4¢ ech 2 489 422 11-3 1ere ech 1 446 392

Il-3 4& ech 11-3 1ere ech 446 392

1l-3 4é ech A=A+

1-3 4¢é ech

1I-3 3e ech 1 471 411 A=A

1I-3 3¢ ech

1I-3 2& ech 1 455 398 A=A

1I-3 2¢é ech

1I-3 1er ech 1 434 383

1I-3 1er ech
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B 1-21R B 1-31R
durée projet projet durée projet projet
11-2 17& ech 638 534 I1-3 11& ech 3 707 587
1-2 17& ech 638 534 | -3 11¢ ech 707 587
1-2 17& ech 638 534 \ -3 11¢ ech 707 587
11-2 17& ech 638 534 \ -3 11& ech 707 587
I1-2 17& ech Sans A 638 534 \\ I1-3 11& ech 707 587
1-2 17& ech 638 534 \ I1-3 11& ech 707 587
11-2 16& ech 4 616 517 [V \ 11-3 10& ech 3 688 572
11-2 16& ech 616 517 N \\ 11-3 10& ech 688 572
1-2 16& ech 616 517 N N I1-3 108 ech 688 572
1-2 16& ech 616 517 S \ 11-3 108 ech 688 572
1-2 16& ech 616 517 N < N I1-3 108 ech 688 572
1-2 16& ech 616 517 (N 11-3 108 ech 688 572
1-2 16& ech 616 517 N \\ 11-3 9¢ ech 3 666 556
I1-2 168 ech 616 517 SO 11-3 9¢ ech 666 556
11-2 15& ech 2 592 499 [ A=3A/4 N\ 11-3 98 ech 666 556
I1-2 15& ech 592 499 N AN 1-3 9¢ ech 666 556
1-2 15& ech 592 499 S \\\\ 1-3 9¢ ech 666 556
11-2 15¢ ech 592 499 N 11-3 98 ech 666 556
11-2 148 ech 2 575 486 | S 11-3 8¢ ech 3 651 544
-2 148 ech 575 486 N N 11-3 8¢ ech 651 544
11-2 148 ech 575 486 N S 11-3 82 ech 651 544
11-2 14é ech 575 486 Soasaz Y 11-3 8& ech 651 544
11-2 13& ech 2 562 476 [* N S| 13seech 651 544
I1-2 13& ech 562 476 N N 11-3 8¢ ech 651 544
2138 ech  A=A/2+lan 562 476 N A 113 7¢ ech 3 624 524
-2 138 ech 562 476 S \ A=A > N 1-3 7& ech 624 524
11-2 12& ech 2 545 464 [ N N 1-3 7& ech 624 524
11-2 12& ech 545 464 N N N I1-3 7& ech 624 524
11-2 12& ech 545 464 AN S N S o | M37eech 624 524
1-2 12& ech 545 464 N N 1-3 7& ech 624 524
11-2 11& ech 2 526 451 [F A=Az N N 11-3 6& ech 2 601 506
1-2 11& ech 526 451 So N N 11-3 68 ech 601 506
1-2 11& ech 526 451 N S « | M36eech 601 506
112 11& ech 526 451 S N 113 6 ech 601 506
11-2 10& ech 2 506 436 | So S| st 2 581 491
-2 10& ech 506 436 SO AR S 4| 1-35eech 581 491
112 10 ech 506 436 ~ S o 11-3 5& ech 581 491
2106 ech  A=A/2+lan 506 436 S o N3 I-35¢ech 581 491
11-2 9¢ ech 2 494 426 | "~ S N 11-3 4& ech 2 553 469
11-2 9¢ ech 494 426 ~ ~ 1I1-3 4¢ ech 553 469
11-2 9¢ ech 494 426 S S o 1I1-3 4& ech 553 469
11-2 9¢ ech 494 426 SS Syl 1348 ech 553 469
11-2 88 ech 2 477 415 |~ o A=A2 SO 11-3 38 ech 2 527 451
11-2 8¢ ech 477 415 S~ ~,| 1338 ech 527 451
11-2 8¢ ech 477 415 S~ -3 3¢ ech 527 451
11-2 88 ech 477 415 Sans A ~ 11-3 38 ech 527 451
11-2 7& ech 2 465 407 | T T SansAT T T_ ="z 2eech 2 484 419
11-2 7¢ ech 465 407 _ - 113 2¢ ech 484 419
11-2 7¢ ech 465 407 _-" _ = 7328 ech 484 419
11-2 7& ech 465 407 |~ 7 A=A+l - 113 28 ech 484 419
11-2 6& ech 1 460 403 _-" — = 7|3 1ere ech 1 446 392
11-2 62 ech 460 403 | -~ A=A =~ 113 Lere ech 446 392
112 5¢ ech 1 450 395 _-" -%
11-2 5¢ ech 450 395 |~ 7 A=A - 27
11-2 4¢ ech 1 439 387 -~ - ’// ’
1I-2 4¢ ech 439 387 L~ 7 -7.%
11-2 3e ech 1 426 378 .- - e
11-2 3e ech Sans A 426 378 ‘L 7z 4
1-2 2e ech 1 409 368 s
11-2 2e ech Sans A a9 368 L7 L7
11-2 ler ech 1 398 362 ,
I1-2 Terech Sans A 398 362 |, 7
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1B IR durée
projet projet  éch
1I-1.19 ech 625 524
Sans A
II-1.18ech 606 509 4
II-1.17ech 588 496 2
Sans A
1I-1.16 ech 558 473 2
II-1.15ech 535 456 2
II-1.14ech 506 436 2
1I-1.13 ech 494 426 2
I-1.12ech 482 417 2
II-1.11ech 465 407 2
Sans A
II-1.10ech 450 395 2
1I-1 .9ech 440 387 2
1l-1.8 ech 426 378 3
1I-1.7 ech 416 370 3
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B I-3IR
durée projet projet
I3 1leech 3 707 587
\\ II-3 11& ech 707 587
N II-3 11& ech 707 587
\ II-3 11& ech 707 587
\ I1-3 11& ech 707 587
\ I1-3 11& ech 707 587
N \ I310éech 3 688 572
\ \ 11-3 108 ech 688 572
\ \ 11-3 108 ech 688 572
\ \ 11-3 10& ech 688 572
\ \ 1I-3 108 ech 688 572
S N \ 113 102 ech 688 572
\ \\ 11-3 9¢ ech 3 666 556
N 11-3 9¢ ech 666 556
N AN 11-3 9¢ ech 666 556
N I1-3 9¢ ech 666 556
> A=A/2+1an® W 11-3 92 ech 666 556
> « N 11-3 92 ech 666 556
N Yo N I382ech 3 651 544
N N S N\ 11-3 8& ech 651 544
NI W N AN 11-3 82 ech 651 544
NN NS \Q 11-3 88 ech 651 544
N \ \\ N RN Y| n3seech 651 544
N N NaTe M 138tech 651 544
N SR NN 11-3 7& ech 3 624 524
\\ \\ N \\\\ 11-3 7& ech 624 524
- N 3 72
N \ AR RIS 11-3 7& ech 624 524
N N \ NN N M372ech 624 524
\ \ \ \\\ 113 78 ech 624 524
N N N g 13 7eech 624 524
N N AR N 11-3 6& ech 2 601 506
N N N N 11-3 6& ech 601 506
AN \ \ N\ 11-3 62 ech 601 506
N N N N N N -36eech 601 506
N  AsAT N 1I-3 58 ech 2 581 491
\ \ N N 11-3 58 ech 581 491
N N \ N 11-3 58 ech 581 491
N N N N N Ny n35eech 581 491
N AT N 11-3 48 ech 2 553 469
N N N \ 11-3 48 ech 553 469
N N \ \ 11-3 4& ech 553 469
AN N N Na| 1-34eech 553 469
~ N ASA/2 \ 11-3 3& ech 2 527 451
S N N \ N 1I-3 3¢ ech 527 451
~ N N N 1I-3 3¢ ech 527 451
~ N N 133eech 527 451
S N\
~sans A A RS II-3 28 ech 2 484 419
~ ~ (N \ 1I-3 2¢é ech 484 419
N SO N m32eech 484 419
~ S N
Sans A SO N : o du322ech 484 419
i S NN |13 ereech 1 446 392
——
= :\‘ II-3 1eré ech 446 392
Sans A -,
- e
-=" ’,
- - - <
- P 7
7
7
Sans A '
7
7
7
7
7
7




